H B8 R 8B =% SHTEE (ERSIER) ASEEA]
#4ES 69 EFEMmEaSEER £AHERE TEH
a—2 Hi@ #FEa—2 EXEI—R |BREDFRI—X [ETE=EY
5 P ' % 15 | 2% 34 24 34 24 34 2 3F B | g o=
BES e | e | s ]| BR[| e | B®R || we]| mR | o | se| BmR | st
EERR 3 2 2 2 2 2
HEME 4 4 4
BHRAXB 4 3 2 3 2 3 2 3 2 5
E:E HHB 4 2 3 0,2,5
* i 2 0,2
P EEETE 2+ 2t 2+ 2+ 0,2
* o 2t 2t 2+ 2+ 0,2
HEEA 2 2 2 2 2 2
HhEE BAREA 2 2 2 2 0,2
Bs BAS®B 4 4 0,4
H#hEE A 2 2 2
BRiR 2 2 2 2 2 2
BUA-RF 2 2 2 2 2 2
N P i 2 0.2
P Hhigs 2t 2t 2t 2r 0,2
X  EEWRI 2 0,2
I 3 3 3
0 4 4 0,4
HEA 2 2 2
. #¥B 2 2 0,2
BRI menmi 2 2 2 0.2
X MEBHRI 2 0.2
X R 3 0.3
& X MR 2} 2} 2} 2t 0.2
g B 2 29 0.2
i T 2 | 2 2
# iR 2 2 2
" b A 2 2 2 2 2 0.2
3 = 4 4 0.4
2| =n % 4 4 0.4
R £ 4 4 0.4
" x HhI IR 2 0,2
E % HEOBR 2} 2} 2} 24| o2
X BEHER 2} 2} 2} 2f 0.2
X  BEBRI 2 0.2
*hE ~8| 3 | 2] 3 2 | 3 2 | 3 2 | 3
o i 2 [ 1 | 1 1 1 1 2
Pg VIV I-Yavag -y 21 21 21 21 0,2
BEI 2 24 0,2
e 2 27 27 2q 29 0,2
FHEI 2 37 0,3
e £ 1 2 2 0.2
ESRIs 2 2- 2- 2- 2- 0,2
A 2 3 0,3
BEHR 0.2
X RREAM 2r 2r 2t 2t 0,2
RS SVEVE 0 | 3 4 4
R1zh-YIvEEED 4 3 3 3 3 3 3 3 3 6
SEE EEREI 2 2 | 2 0.4
P —hREEE 2t 2t 21 21 0,2
X ERxit 2 0.2
RERE 4 2 2 2 2 2 2 2 2 4
RE % EEXL 2 0.2
Pd E£EHE 2r 2r 2t 2t 0,2
tE% w2 LR 2 2 2
KB % TLFA—Yyy 1 !
x e 2~8 3 | 3 0.6
¢ EUFREE | 2~6 2 0.2
.| BE ECRRMER | 2~8 2 0,2
" BB 2~8 2 | 2 0,4
; TEERLIE 2~8 3 0,3
I FELORELRE| 2~6 3 0,3
ol e —
< T—RTHIY 2~6 2 2 2 2 0,2
B HEEUER | 2~6 2 0,2
2 NEEILER | 2~6 2 0.2
2 _— ] ;;ﬁﬁ%mﬁ 2~12 2 0.2
& CCARENDEDER|2~12 2 0,2
:ﬁ RN SVEVE S 3100 2~4 2 0,2
H NEMREET | 2~6 4 0.4
B &% SEEWR 2~6 2L 2L 2L 221 0.4
BHE - BB OBEALHET 28 29 25 4 29 25 4 29 25 4 29 25 4 86
(M & IRTOEE] 3~6| 2 1 1 1 1 1 1 1 1 4
®— L — b E B 3 | 1 1 1 1 1 1 1 1 1 3
& it 31 31 31 31 31 31 31 31 31 93

TEL SRFNT ARG E SR R OFLR
2 TRAMRBRIE DR (X, ERRERIHE 175055 (5053 X 35[8]) & 1 HAAL & L CHE L 7= BT84 fofl




